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RECTANGULAR COORDINATES AND
STRAIGHT LINE

1. The base f an equilateral triangle with side

2a lies along the y-axis such that the mid point


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZfyYmvTYYncP

of the base is at the origin. Find the vertices of

the triangle.

A. (1/3a, 0), (0, a),(0, -a)
B. (1/3a, 0), (a, 0), (1, -a)
C.(y/3a, 1), (a, 0), (-a, 0)

D. (1/3a, 0), (0, a), (-a, 0)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZfyYmvTYYncP

2.If the equation of the base of an equilateral
triangle is x + y = 2 and the vertex is (2, -1),
then the length of the side of the triangle is

(in unit)

@
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Answer: A

‘ o Wiadk hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_xCji33JDgASH
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3. The coordinates of the middle points of the
sides of a triangle are (4, 2), (3, 3) and (2, 2),
then the coordinates of its centroid are

A (3,7/3)

B. (3, 3)

C.(4,3)

D. None

Answer: A

| s |


https://dl.doubtnut.com/l/_xCji33JDgASH
https://dl.doubtnut.com/l/_blVldXAIas7L

| ¥ Watch Video Solution ]

4. If p is the length of perpendicular from the

origin on the line z + % =1 and a’p* and
a

b% are in AP, the show that a* + b* = 0.

Al
B.2
C.3

D.O

Answer: D

r


https://dl.doubtnut.com/l/_blVldXAIas7L
https://dl.doubtnut.com/l/_P9XRdTAWb6ps

\ o Watch Video Solution

5. A line joining A(2, 0) and B(3, 1)is rotated
about A .in anticlock wise direction through
angle 15" jthen the equation of AB in the new
position is
Ay—+2z+2/3=0
B.y— 3z ++3=0
Cy—+2z++3=0

D.y — +/3z +2,/3=10


https://dl.doubtnut.com/l/_P9XRdTAWb6ps
https://dl.doubtnut.com/l/_yXcfg0a8AOOc

Answer: D

o Watch Video Solution

6. The number of integral values of m, for

which the x coordinate of the point of

intersection of the lines 3z + 4y =9 and

y = mx + 1lis also an integer, is

A2

B.O

C.4


https://dl.doubtnut.com/l/_yXcfg0a8AOOc
https://dl.doubtnut.com/l/_XpGWjic0RdhQ

D. 1

Answer: A

° Watch Video Solution

7. If p is the length of perpendicular from
origin to the line whose intercept on the axes
1

are a and b, then — 4+ — is equal to
a’> b

A.1/p?

B.1/p


https://dl.doubtnut.com/l/_XpGWjic0RdhQ
https://dl.doubtnut.com/l/_pkhv3zMcudDd

C.1/p?

Answer: C

° View Text Solution

8.If t1, ty and t3 are distinct, then the points
(t1, 2at; + at?), (Lo, 2aty + at3) and

(t3, 2ats3 + atg) are collinear, when

A titots = 1



https://dl.doubtnut.com/l/_pkhv3zMcudDd
https://dl.doubtnut.com/l/_TQpOYv3g4BmN

B.tl + tg + t3 — t1t2t3

Ct1—|-t2—|—t3:()

D.t; +ty+1t3 =1

Answer: C

o Watch Video Solution

9. If two vertices of a triangle are (5, -1) and (-2,
3) and if its orthocentre lies at the origin, then

the coordinates of third vertex are


https://dl.doubtnut.com/l/_TQpOYv3g4BmN
https://dl.doubtnut.com/l/_pAVNJqLUsrwM

A.(4,7)

B. (-4, -7)

C.(2,-3)

D. (5, -1)

Answer: B

° View Text Solution

10. If the vertices of a triangle have integral

coordinates, then the triangle is


https://dl.doubtnut.com/l/_pAVNJqLUsrwM
https://dl.doubtnut.com/l/_Uplls6NI9IyC

A. equilateral

B. never equilateral

C. always isosceles

D. None of these

Answer: B

o View Text Solution

1. The area bounded by the curves x + 2|y| =1

and x=01s


https://dl.doubtnut.com/l/_Uplls6NI9IyC
https://dl.doubtnut.com/l/_YxHJVbb8tEGq

N = | =

C.1

D. 2

Answer: B

o Watch Video Solution

12. If 1, ¢9, x3 as well as y;, Y9, y3 are in GP

with same common ratio, then the points

P(mla 3/1)7 Q(m% yz) and R(m37 ys)


https://dl.doubtnut.com/l/_YxHJVbb8tEGq
https://dl.doubtnut.com/l/_wp2AF8R4n4N4

A. lie on a straight line

B. lie on an ellipse

C.lie on a circle

D. are vertices of a triangle

Answer: A

o Watch Video Solution

13. If the area of the triangle whose vertices
are (b, c), (c, a) and (a, b) is A, then the area of

triangle whose vertices are


https://dl.doubtnut.com/l/_wp2AF8R4n4N4
https://dl.doubtnut.com/l/_tyy194rRMj3t

(ac — v, ab — cz), (ba — ¢, be — a2) and

(cb —a% ca — bz), is

A. AZ
B.(a +b+c)’A
C.aA + bA?

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tyy194rRMj3t

4. If = —l—% = 1 is any line through the
c

intersection ofz—l—gzlandﬁ—l—g:l,
a b b a
then
A1+1—1+1
‘"¢ d a b
Bl—l—l—l—l—l
d a b c
C1+1—1+1
b d c a

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_Sw2n0mjXTDmY

15. Let PS be the median of the triangle with

vertices P(2, 2), Q(6, -1) and R(7, 3). The

equation of the line passing through (1, - 1)

and parallel to PS, is

Adx+7y+3=0

B. 2x-9y-11=0

C.4x-7y-11=0

D.2x+9y +7=0

Answer: D

‘ o View Text Solution


https://dl.doubtnut.com/l/_4Pi059mZDl51

16. The x-coordinates of the incentre of the
triangle that has the coordinates of mid-point
of its sides as (0, 1), (1, 1) and (1, 0), is

A2+ /2

B.2 — /2

C.1++/2

D.1 — /2

Answer: B

| s ]


https://dl.doubtnut.com/l/_4Pi059mZDl51
https://dl.doubtnut.com/l/_aIUbmLyZWWSO

| ¥ Watch Video Solution ]

17. The angle between the lines /3z +y = 1
and z + /3y = 1lis

A.30°

B.60°

C.90°

D.45°

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_aIUbmLyZWWSO
https://dl.doubtnut.com/l/_YPWPfD2H3ykL

18. Show that the tangent of an angle between

the Iines£—|—£:1and E—gzl and

a b a
2ab
a2 — b2 )

3ab
) a2 — b2

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_YPWPfD2H3ykL
https://dl.doubtnut.com/l/_tkvmZYqMeNfB

19. The locus of the point of intersection of the
lines xsinf + (1 — cosf)y = asinf and

zsinf — (1 + cosf)y + asinf = Qs

B.z2 + y? = a?
2

C.y* = ax

D. None of these

Answer: B



https://dl.doubtnut.com/l/_tkvmZYqMeNfB
https://dl.doubtnut.com/l/_bysAJvYFsNGy

| & Watch Video Solution

20. If A(2, -3) and B(-2, 1) are two vertices of a

triangle and third vertex moves on the line 2x

+ 3y =9, then the locus of the centroid of the

triangle is

A 2x-3y=1

B.x-y=1

C.2x+3y=1

D.2x+3y=3


https://dl.doubtnut.com/l/_bysAJvYFsNGy
https://dl.doubtnut.com/l/_C4wmU5xxsVrJ

Answer: C

o View Text Solution

21. If the line 2x + y = k passes through the
point which divides the line segment joining
the points (1, 1) and (2, 4) in the ratio 3:2, then

k is equal to

A29
"5

B.5

C.6


https://dl.doubtnut.com/l/_C4wmU5xxsVrJ
https://dl.doubtnut.com/l/_rcqPrW1wiQZC

D. —

Answer: C

o View Text Solution

22. The distance between the line

3r +4y =9 and 6z + 8y = 15 s

3

A
0

1
2

@

=~ = O


https://dl.doubtnut.com/l/_rcqPrW1wiQZC
https://dl.doubtnut.com/l/_A1HTh6LN3W0F

W =

Answer: A

o Watch Video Solution

23. The foot of the perpendicular from (2, 3)

upon the line 4x-5y+8=0is

A. (0, 0)

B. (1,1)

C 41 128
"\ 78" 75


https://dl.doubtnut.com/l/_A1HTh6LN3W0F
https://dl.doubtnut.com/l/_vQV16el3xcrt

5 78 128
"\ 41’ 41

Answer: D

o Watch Video Solution

24. A straight line L with negative slope passes
through the point (8,2) and cuts the positive
coordinate axes at the points P and Q .as L

varies, the absolute minimum value of

OP + 0Q)
2

O is origin is

A.10


https://dl.doubtnut.com/l/_vQV16el3xcrt
https://dl.doubtnut.com/l/_tzBV52mhWW60

B.18

C.16

D. 112

Answer: B

o Watch Video Solution

25. If the equation of the sides of a triangle
are x +y =2,y =xand /3y +z = 0, then
which of the following is an exterior point of

the triangle?


https://dl.doubtnut.com/l/_tzBV52mhWW60
https://dl.doubtnut.com/l/_Vcjk8pOMOzBV

A. Orthocentre

B. Incentre

C. Centroid

D. None of these

Answer: A

o View Text Solution

26. Without change of axes the origin is
shifted to (h, k), then from the equation

2’ +y* —4dx +6y—7=0, then therm


https://dl.doubtnut.com/l/_Vcjk8pOMOzBV
https://dl.doubtnut.com/l/_l1CwGCkg4RnW

containing linear powers are missing, then

point (h, k) is

A. (3,2)

B. (-3, 2)

C.(2,-3)

D. (-2, -3)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_l1CwGCkg4RnW

27. Given the family of lines
a(2x +y+4) +blx —2y—3) =0. The
number of lines belonging to the family at a
distance \/1_0 from any point (2,-3) is

A.O

B.1

C.2

D.4

Answer: B

‘ o Wiak lh \iAAaA CAaliikianm



https://dl.doubtnut.com/l/_5qMsRgAL7Ik4
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28. Let A(1,k),B(1,1) and C(2,1) be the vertices of
a right angled triangle with AC as its
hypotenuse. If the area of the triangle is 1,

then the set of values which k can take is given

by:

A. {1, 3}

B. {0, 2}

C.{1,3}

D. {-3,-2}


https://dl.doubtnut.com/l/_5qMsRgAL7Ik4
https://dl.doubtnut.com/l/_G61qpoeVZmqC

Answer: C

o Watch Video Solution

29. The value of k such that
3z? — 1lzy + 10y — 7z + 13y + k=0
may represent a pair of straight lines , is
A.3
B.4

C.6

D.8


https://dl.doubtnut.com/l/_G61qpoeVZmqC
https://dl.doubtnut.com/l/_YnrBOnhw5Z9l

Answer: B

o Watch Video Solution

30. Let A(2, -3) and B(-2, 1) be the vertices of A
ABC. If the centroid of this triangle moves on

the line 2x + 3y = 1 then the locus of the vertex

Cis the line
A.2x+3y=9
B.2x-3y=7

C.3x+2y=5


https://dl.doubtnut.com/l/_YnrBOnhw5Z9l
https://dl.doubtnut.com/l/_GieDj4vc8q2z

D.3x-2y=3

Answer: A

° View Text Solution

31. Find the equation of the straight line
passing through the point of intersection of
the lines
x—y+1=0and 2z —3y+ 5 =0andata

distance % from the point (3, 2)

A. 3x - 4y+6= 0 and 4x - 3y +1=0


https://dl.doubtnut.com/l/_GieDj4vc8q2z
https://dl.doubtnut.com/l/_fo22msSvyAym

B. 3x + 4y+6= 0 and 4x + 3y +1=0

C.3x -4y -6=0 and 4x + 3y +1=0

D. None of the above

Answer: A

o Watch Video Solution

32. If the sides BC, CA, AB of AABC are
respectively x + 2y =1,3x +y+5=0,x-y+ 2 =

0. Then, the altitude through B is


https://dl.doubtnut.com/l/_fo22msSvyAym
https://dl.doubtnut.com/l/_WkqUNB9dc0Ju

Ax-3y+1=0

B.x-3y+4=0

C.3x-y+4=0

D.x-y+2=0

Answer: B

o Watch Video Solution

33. The equation of straight line passing
through (-2,7) and having an intercept of

length 3 between the straight lines : 4x + 3y =


https://dl.doubtnut.com/l/_WkqUNB9dc0Ju
https://dl.doubtnut.com/l/_eeH52zNUmP4X

12,4x+3y=3 are: (A) 7x + 24y + 182 = 0 (B) 7x

+24y+18=0(C)x+2=0(D)x-2=0

A.7x-24y-182=0

B.7x+ 24y +182 =0

C.7x + 24y -182=0

D. None of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eeH52zNUmP4X

34. A variable straight line drawn through the

point of intersection of lines — + g _ 1 and
a

T : .
3 + Y — 1 meets the co ordinates axes in A
a

and B. Locus of the mid point of AB is

A.2xy (a +b) =ab (x +y)
B.2xy (a-b)=ab (x-y)
C.2xy(a+b)=ab (x-y)

D. None of the above

Answer: A

‘ ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_tcEtCcGMnVM4
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35. If non-zero numbers a, b and c are in HP,

. oz oy 1
then the straight line — 4+ =4+ — =0
a b c

always passes through a fixed point

a1, — 2
{2-3)
B. (1,-2)

C.(-1,-2)

D. (-1, 2)

Answer: B

| s |


https://dl.doubtnut.com/l/_tcEtCcGMnVM4
https://dl.doubtnut.com/l/_DmsZbDdAOGWH

¥ View Text Solution ]

36. The vertices of a triangle are
(A(—-1, —7),B(5,1), and C(1,4). The

equation of the bisector of ZABC'is

Ax+7y-2=0
B.x-7y-2=0
Cx-7y+2=0

D. None of these

Answer: C



https://dl.doubtnut.com/l/_DmsZbDdAOGWH
https://dl.doubtnut.com/l/_BlB2khhCannX

\ o Watch Video Solution

37.If (a, a2) falls inside the angle made by the

lines y = —,x > 0 and y = 3z, x > 0, then

hd
2

a belongs to the interval
A (302)
2
o (o)
2
c(0.5)
2

D. (3, 00)

Answer: A


https://dl.doubtnut.com/l/_BlB2khhCannX
https://dl.doubtnut.com/l/_JAR5h3h8stwj

° Watch Video Solution

38. The equation of two equal sides of an
isosceles triangle are 7x-y+3=0and x+y-3
= 0 and its third side is passes through the

point (1,-10). The equation of the third side is

A.x-3y=-31
B.x -3y =31
C.x+ 3y =31

D.x + 3y =-31


https://dl.doubtnut.com/l/_JAR5h3h8stwj
https://dl.doubtnut.com/l/_VAFOhVlDqS2g

Answer: B

o Watch Video Solution

3. Let P=(-1,0),Q(0,0) and
R = (3,34/3) be three points. Then the

equation of the bisector of the angle PQR is

3
A.£w+y:O

2
B.z + /3y =0
C.\/3z+y=0

3
D.az+§y:0


https://dl.doubtnut.com/l/_VAFOhVlDqS2g
https://dl.doubtnut.com/l/_Jry3qBMdLzQx

Answer: C

o Watch Video Solution

40. A straight line through the point A(3, 4) is

such that its intercept between the axes is

bisected at A. Its equation is -

A.d4x+3y=24

B.3x+4y=25

Cx+y=7

D.3x-4y+7=0


https://dl.doubtnut.com/l/_Jry3qBMdLzQx
https://dl.doubtnut.com/l/_AkpzblgNrTj0

Answer: A

o Watch Video Solution

41.The straight lines 5x + 4y =0,x+ 2y -10=0

and 2x+y+5=0 are

A. concurrent

B. the sides of an equilateral triangle

C. the sides of a right angled triangle

D. None of the above


https://dl.doubtnut.com/l/_AkpzblgNrTj0
https://dl.doubtnut.com/l/_N7Q11qguI9KI

Answer: A

o Watch Video Solution

42. Let a, b, c and d be non-zero numbers. If
the point of intersection of the lines 4ax + 2ay
+ c =0 and 5bx + 2by + d = O lie in the fourth
quadrant and is equidistant from the two

axes, then

A.3bc-2ad =0

B.3bc+2ad =0


https://dl.doubtnut.com/l/_N7Q11qguI9KI
https://dl.doubtnut.com/l/_Mb7me0REatnS

C.2bc-3ad =0

D.2bc+3ad =0

Answer: A

o View Text Solution

43. Let PQR be a right angled isosceles
triangle, right angled at P(2,1). If the equation
of the line QR is 2x 4+ y =3, then the
equation representing the pair of lines PQ and

PR is


https://dl.doubtnut.com/l/_Mb7me0REatnS
https://dl.doubtnut.com/l/_1NX7neZeDbNP

322 — 3y’ + 8xy — 20z — 10y + 25 =0

3z? — 3y? + 8xy+20x + 10y +25 =0

3z2 — 3y? — 8xy — 20z — 10y — 25 =0

322 — 3y’ + 8xy+ 20z — 10y +25 =10

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1NX7neZeDbNP

Bitsat Archives

1. The value of k such that the lines

2 —3y+k=0,3z —4y—13 =0 and

8r — 11y — 33 = 0 are concurrent is

A. 20

C.7

D.-20


https://dl.doubtnut.com/l/_1NX7neZeDbNP
https://dl.doubtnut.com/l/_fRH4bteqLV42

Answer: B

o Watch Video Solution

2. Three straight lines
2x +1ly-5=0
24x +7y-20=0

4x-3y-2=0

A. form a triangle

B. are only concurrent


https://dl.doubtnut.com/l/_fRH4bteqLV42
https://dl.doubtnut.com/l/_p4IipqYHOQvW

C.are concurrent with one line bisecting

the angle between the other two

D. None of the above

Answer: C

o View Text Solution

3. The equation of the lines through ((1,1) and

making angles of 45° with the line x+y=0 are

A . x-1=0,x-y=0


https://dl.doubtnut.com/l/_p4IipqYHOQvW
https://dl.doubtnut.com/l/_HcWOLrnMVx9C

B.x-y=0,y-1=0

C.x+y-2=0,y-1=0

D.x-1=0,y-1=0

Answer: D

o Watch Video Solution

4. The equation of the base BC of an
equilateral AABC is x + y =2 and Ais (2, - 1).

The length of the side of the triangle is


https://dl.doubtnut.com/l/_HcWOLrnMVx9C
https://dl.doubtnut.com/l/_ERT9ICnmIL2K

Answer: D

o Watch Video Solution

5. The foot of the perpendicular from the

point (3,4) on the line3x-4y+5=0is


https://dl.doubtnut.com/l/_ERT9ICnmIL2K
https://dl.doubtnut.com/l/_Y3WFJKhqQyzZ

Ny
25’ 25
- (2.3)
"\ 257 25
c(2.3)
26° 24
o, (£.5)
26" 26
Answer: A

o Watch Video Solution

6. The equation of the bisector of the acute
angle between the lines 3x + 4y + 5 =0 and 12x

-5y-7=0,is


https://dl.doubtnut.com/l/_Y3WFJKhqQyzZ
https://dl.doubtnut.com/l/_hK0XnYzHUUmP

A.21x+ 77y + 100 =0

B.99x-27y + 30 =0

C.99x +27y+30=0

D. 21x - 77y - 100 = 0

Answer: C

o View Text Solution

7.The line x + y = 4 divides the line joining the

points (-1,1) and (5, 7) in the ratio


https://dl.doubtnut.com/l/_hK0XnYzHUUmP
https://dl.doubtnut.com/l/_QkxInt83JbJj

A. 2:1

B.1:2

C. 1:2 extenally

D. None of the above

Answer:

o Watch Video Solution

8. The condition that the straight line joining

the origin to the points of intersection of the


https://dl.doubtnut.com/l/_QkxInt83JbJj
https://dl.doubtnut.com/l/_QcqNUIPllp6e

line 4x + 3y = 24 with the circle
(z—3)%+(y—4)> =2

A. are coincident

B. are perpendicular

C. make equal angle with X-axis

D. None of the above

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_QcqNUIPllp6e

9. Two opposite vertices of a rectangle are (1,
3) and (5, 1). If the equation of a diagonal of
this rectangle is y = 2x + c. Then, the value of c

is

Answer: C

I o Wiak lh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_VnIQa87tObxr
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10. The  transformed equation of
322+ 3y + 22y —2=0 when the

coordinats axes are rotated through an angle

of 45° s
Azl +2y° =1
B.2a32—|—y2 =1
Czl+y’=1

D.z2 + 3y =1


https://dl.doubtnut.com/l/_VnIQa87tObxr
https://dl.doubtnut.com/l/_nfQ94SyhXtcj

Answer: B

o Watch Video Solution

1. If I, m, n are in AP, then the line Ix+my+n=0'

will always pass through the point

A.(-1,2)

B. (1,-2)

C.(1,2)

D.(2,1)


https://dl.doubtnut.com/l/_nfQ94SyhXtcj
https://dl.doubtnut.com/l/_CKrj6IV12Qd8

Answer: B

o Watch Video Solution

12. If a vertex of a triangle is (1, 1) and the mid-
points of two side through this vertex are (-1,

2) and (3, 2), then centroid of the triangle is


https://dl.doubtnut.com/l/_CKrj6IV12Qd8
https://dl.doubtnut.com/l/_KBIIk8USpyzz

Answer: A

o Watch Video Solution

13. The equations to the sides of a triangle are

x—3y=0,4c+3y=5 and 3z +y=0.

The line 3z — 4y = 0 passes through

A. the incentre

B. the centroid

C. the orthocentre

D. the circumcentre


https://dl.doubtnut.com/l/_KBIIk8USpyzz
https://dl.doubtnut.com/l/_Hc7seWrsCxf7

Answer: C

o Watch Video Solution

14.1f (0, -1) and (0, 3) are two opposite vertices

of a square, then the other two vertices are

A. (0, 1), (0, -3)

B. (3,-1), (O, 0)

C.(2,1),(-2,1)

D. (2, 2),(1,1)


https://dl.doubtnut.com/l/_Hc7seWrsCxf7
https://dl.doubtnut.com/l/_1X5VMxonaaaW

Answer: C

o Watch Video Solution

15. The equation to the line bisecting the

joining of (3. - 4) and (5, 2) having its

intercepts on X-axis and Y-axis in the ratio 2:1,

is

A x+y-3=0

B.2x-y=9

Cx+2y=2


https://dl.doubtnut.com/l/_1X5VMxonaaaW
https://dl.doubtnut.com/l/_mb1pyGUwbCV7

D.2x+y=7

Answer: C

o Watch Video Solution

16. The circumcentre of the triangle formed by
the lines zy+2x+2y+4=0 and
z+y+2=20Iis

A. (-1,-1)

B. (O, -1)


https://dl.doubtnut.com/l/_mb1pyGUwbCV7
https://dl.doubtnut.com/l/_6Ce6tB630aF0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6Ce6tB630aF0

